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l}eﬁ}zene and toluene form a ideal solution and V.P. of pure benzene and

toluene are 160 mm of Hg and 60 mm of Hg. Calculate partial pressure of
benzene and toluene and total pressure also

) Containing equal mass of both benzene and toluene 4

g;/ Containing equal molecules of both benzene and toluene

Y Containing 1 mole of benzene and 4 moles of toluene

\(/d»)’ Also calculate mole fraction of Benzene and toluene in vapour phase if

equal moles of benzene and toluene mixed
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P =7
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solution of two volatile liquids A and B is given by equatio

At a given temperature, the vapour pressure in mm of H of a@
r@f 120 - 80 13"
7

Calculate V.P. of pure A and B at same temperature
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Two liquids A and B form an Ideal solution at 300 K the V.P. of solution
having 1 mole of A and 3 mole of B is 550 mm of Hg. At same temperature
if 1 mgre mole of B is added to solution, V.P. of solution increases by 10 mm
of Hg. Determine V.P. of A and B in pure state. [1IT]
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For an ideal solution, the correct option is
(a) A, S=0atconstant Tand P ¥ (b‘f‘ A.i.V#0atconstant Tand P

\(jX A, .. H=0atconstant T and P }Q A_. G=0atconstant T and P
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Which one is not equal to zero for an ideal solution?

(a) AP = Pobserved = PRaoult ) ) A_Hmix
/AS (d) AVmilr(
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